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2.

i
i A ;
Which of the following statement 18
not correct regarding learning ?
1) Learning is a change in
behaviour through practice.

2) Learning occurs as a result of

experiences.

3) Leaminl_% is relatively
permaneént change in
behavieyr.

4) Learni is a change 1n
behaviour due to maturity.

Which of the following statements
does not indicate the importance
of spaced method of learning ?

1) Learning doesn't get tiring
2) Memﬂory traces not consolidate
8) Maintains interest in learning
4) No mental boredom
N

)

Which of t:!_i._‘b following act of the

teacher blecks the potential of

creal_tive'chi[a? ; ‘

1) Encouragement for divergent
thinking

2) Insistence on conformity to the
ideas of others

3) Freedom for expression of
ideas

4) Motivation for innovation
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Lﬂ
% ﬁqﬁmﬁ G EI?FHTF' Fue el 4. Which of the following statemen;
SRt B TqE R :,gyaw 7 does not correctly explain the
acquired motives ? '
4 a- ST et ’ldl o i : | \ 1) They are not innate
.2 3 mﬁzﬁ B ¥ : 2) They are universal _
| f) S @ B i emasas 8) They are not essential to
aﬁ ALY R T B Survival
4) 3 frm Hﬂﬁﬁ:’%’(ﬁ g - . 4)- They affects learning
‘ . . LA | ‘
5. el @ @ RIS EE ﬁ?l 9 FA & 5. 'The sati.s[actory effect. of . a’ task
i@ &1 g Far B g @ 9 o affects the learning of that task.'
‘ ERLAETE EY sferaried ek ‘T'HT.? Who propounded this law of
- learning ? ' :
1) . Yt S 1) Paviov
2) HiHeEHe 2) Thorndike
3) R : | 3) Skinner
4) dregd - . | 4) Watson

6. wU-aE RERE 3 Reo-emrm 6. Which training is nof necessary for

%’@ Fr-ar SR aaEs T E ? teaching-learning  of  hearing
: : impaired students ?

a. & qeq i a. Lip reading
' Te)

b. dda W ?.1 b. Signlanguage

c. s f@fﬁ g c. Braille-script

d. THS qﬁm X " d. Motor training

1) al@b 1) aandb

T pandc ‘l

e2) bW c 2) ;

8) cWd 3) candd

4) aT c A 4) aandc
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1. A child has to learn a lesson by

dividing it in several sections as per
his convenience. Which is this

method of learning ?
) W’hole methbd
2) | Massed method

'3) '—-”Pgt method ;

4) .Ir@dental method

8. Which teaching-learning strategies
" will be important for an inclusive
classroom of students with

different needs ?
- a. Multisensory Teaching
b. ngperative Learning
- c. PEer Tutoring
d. T&am Teaching
1) a,bandd 2) bandc
3) aandd 4) a,b,candd

9. In which learning disability, the

following intervention programs are

suggested ?
(A) Efforts for linguistic
Tp) .
camprehension
N

(B) DE-iﬂl for spelling correction
1) Dgsle'xia
2) Dysmagnisia
3)  Dysgraphia
 4) Dyscalculia’
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Which psycholbg‘ist rendéredl the
concept of 'object perménen_ce‘ in his
cognitive development theory ?

1) Piaget

) Vygotsky

3) Bruner

4) Kohlberg

The evaluation done for the
purpose of improvement through
feedback during theirstructional

" pProgram is called as :

1)  Summative

2). Diagnostic -
3) Systematic

'4) Formative

Which of the following is nof an
extrinsic motive ?

1) Approval

- 2) Powe}‘

3) Achievement

4) Rest

Who coined the term 'Mental age' ?

1) Binet

4
2) Stern : %
3) Terman

4) Wechsler
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According to Gagne learning
model, which type of learning will
not be required' before any
concept learning ?

1) Chain Learning
2) Rule Learning 2
3) Signal Learning

4) Discrimination Learning

Which of the following intelligence

tests is a non-verbal intelligence test ?

1) Army-alpha Tést

2) Raven's Progressive Matrices
‘Test

3) Binet-Simon Test

4) Jalota General Mental Ability
Test

According to the Vygotsky the
speech which is directed to the self,
that is known as :

1) Social speech

2) Private speech

3) External speech

4) Interaction speech

Which teaching-learning method is
not included in a child centered and
progressive education ?

1) PIOj ect ¢
2) Problem solving 1
3) Lecture

4) Experimental
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18. wh.lCh of the fonowing factors ;is not

19,

20.

21.

included in the hereditary factors

affecting individual differénces ?
1) Physical Structure '
2) Intelligence

‘ 3) Aptitude

4) Attitude

What type of motive was ‘used tc
learn a specific behaviour ir
Thorndike's learning experimen
oncat? '

‘1) Biological motive

~ 2)  Social motive

3) Extrinsic motive

4) Environmental motive

Which of the following educationa
arrangements should be made fo

talented students ?.

1) Acceleration

2) Remedial Teaching
3) Reading Practice
4) Speech Therapy

‘Which of the following is not

ap'pmpriate soeial | behavisir
characteristic - of ite childhoe
children ? '

1) Cooperation

g) Sympathy e, vy

3) Empathy £

4) Ego—Ce_ntrism
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Which of the following is mof 2
form of essay type question ?
1) Desci‘iptivm 2) Analytical
3) Recognitigs 4) Critical

_ G : _
What type of Earhing is the basis .
of Pavlov's leaffing theory ?
1) Ccmceptual '

| 2) 'Conditioned
-3) Insight

4) Imitative

'Zone of Proximal Development'
this concept |s, coined by which
psychologlst’?lg .
1) Erikson 4 2) Vygotsky
3) | Kohlberg ,,:' 4) Piaget

&) y

 Which of the following factors
‘negatively affects learning ?

1) Practice
2)" Will Power
3) Motivation
4) Fatigue

Te)
When the morﬁl development of a
Chlld is baseq_qn the desire to be
declared a ggjd boy ‘or a good
girl, then what is this morality
related with ?
1) Individualism and Exchange
2) Obedience and Punishment .

~ 3) Social contracts

4) Good

IntErp er
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21. Development is a process begms
from : ,_r)
1) Congeption to Maturity
- 2) Birtﬂo’Maturity
3) CO@ption to Death
4) Birth to Death

28. 90-110 range of 1.Q. represent
which intellectual category ?
1) Average
2) Beldf} Average
3) Aboyk Average
4) Supaior
A

29.  Which name of late childhood does
not refer to the influence of peers
in the process of socialization ?

1) Gang-age

2) Age of conformity
3), Play-age

4) Transitional age

7 .
ch cg:‘{he following statement is
206 cofrect in context of

o
development-
1) Deve opment
nctional changes:

30.

involves
fu |
pevelopmental
predictable.

All children develop the same.

3)
8) pevelopment Proceeds from
eneral to specific,

h

2) pattern is

[Level-1/1101]
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16. Choose the correct optioy, ¢, il in
the plank :

He .ooiiisesrss sleep after reading at

Jeast 20 Pages €Very night, when
he lived in hostel. |
o ill
DR

2) would
: 3) 'x_night

4) shall

- 41. Choose the correct prepositions

. for the blanks :

He has been living ..... ... Calcutta
........... last three years. | '
o1) in, since

2) in, for

3) at, for

- 4) into, since

48. I met Mr. Shah at .=r

airport.

1).a

'k
2) an @

. 3} the
)
4) Zero

Q)
F ) m 2
49. Choose th\é_"f:orrect.option to fill in’
the blank :—
A
You are .....:...... among criminals.

1) meaner
2) - meanest
3)- meanly

-« 4) most meaner

50. Choose tth correct one word

substitutiomy
: s RN
A disease ﬂ:{at spreads over a large

area. )
. 1) effeminate
2) Qermicide
3) epidemic

4y illicit

51. Choose the correct option for the
underlined word :

She is likely to come today.

s 13 Adverﬁg
2) Adjectflp
3) Prlo‘nou:_iﬁ'
4) Conjurfetion

52. The antonym of 'adversity'is : -
1) discord .+ 2) prosperity

3) scarcity 4) misery

PET20
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53. Choose the correct option to fill in
the blank : =
You will fail ........... you work very
1). nevertheless
2) howsoever
3) . unless
4) beside

D111:955

54. The synonyﬁ of 'Filthy'is :
1) - weak
2) fluffy
«3) dirty -

4) strong 7o)
: Q)
o

55. The idiom - "To pay ’o@ld scores"

means : . —

', 1) To return capital without
interest
2) To have revenge

3) To live within one's initial

income _
4) To refuse to pay ongss loan
i /
56. Choose the correct optﬁn :
'Misanthrop' is : ‘5‘

1) Something imaginary - .
~2) Something not based on facts |
+3) One who hates fnaﬁkjﬁd

4) A calf for sacrifice

—

S1. The word '‘pious' means :
*1) religious and moral
2) worthless
3) liberal

4) traitor

58. Choose the corréc't sentence :

1) He break her heart by turning
down her proposal.
2) He breaked her heart by
turning down her pfoposal.
3) He has breaked her heart by
turning down her proposal.
4) He broke her heart by turning
- down her proposal.

59, Choose the correct option to fill in
the blank :

He .cccooreins his sister more than

anyone else.

1) léve

2) isloving g

3) was loving &ﬂ;
0 4) loves: 22

60. Choose the correct tense form -
Look ! Here .......... the director of
the drama. .
1) had come 2) have come

o 4) comes

3) come

_/
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Healt a1 ofred 19 @1 C 9 A  Bis20andBand Cis 19 and C and
deggold, AAFATE: Ais 21. Then the value of A is :
1) 24 ' ’/\pi" ] \(\/o 1) 24
2) 22 Nl VY, 2) 22
/ WY P 2 q o 3) b
4) 18 " W ° \?&v ol | A0
63. TR Rp 2 T # 'ACE #1925 63. Ina code langbage 'ACE' is written
T BIC @y '48149' Warar%, as 1925 and_BIG' is written as
DOG' & g FE a7 e ~'48149', then iithe same language,
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; 1) 41549
1) 41549 - |
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2) 162259 » N g __
Bt ek o 3) 1622549 :
7% 1622549 ' L et
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67. T fAl=d ?@W ¥, 'PAGES' @ 67.

'RDIHU' T TE' & 'YUKWG'
ferar o &, @ 'OTHER: @ I#i
# R g & R o ?

‘D QWmr 2 QWHT
3) OWHT_] 4) QWTH]'

[ Level-1 /1101 ]ﬁa 6@

Find the next term of the following

number series :
3, 10, 26, 50, 122, ? -
1) 154
2) 162
3) Il?l}

4) 1178

Find the odd one :

1) Major

2) Colonel g
3) Admiral @
4) Brigadier

If A is heavier than B, C is lighter
than D, E is heavier than D but -
lighter than B, who among them is

the heaviest ?
1) B 2) D
3) E 4 A

In a certain code, 'PAGES' is -
written as 'RDIHU' and 'WRITE' is
written as 'YUKWG', then 'OTHER'
will be written as in same code :

1) QWIJHT %) RWHT
4) QWTH]
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68.

69.

70.

ke

The next term of the fbﬁowing

series: u"r.;
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(m)]
GA4T, J9R, ﬁ}aop, P43N, ?
e

1) S88L f:'

2) S90L

3) S90M '

4) S88M

¥ s
"

A is the son of}!. B's sister C has a
son D and §j daughter E. F is

maternal unclegof- D, then how A is
relatedtoD ? .

1) Cousin

2) Brother

3) Uncle

" 4) Father

If the cost price of 18 books is
equal to thetgelling price of 20

books, then tlaloss percent is :

—
1) 20%
%
© ) 25%
3) 80%

R:T.O.
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13.

The'position of how many letters in
the 'BRAKES'  remain
unchanged when they are arranged

in English alphabetical order ?

word

1 1
2) 2
3) 3
4 4

In how many years will a sum
become 27 times when it triples
itself in 7 years: at compound

interest (when rates are same) ?

18 years

3) 20 years— |
4) 2lyears

If P stands for +, Q stands for —, R

stands for + and S stands for x, then

the value of
18536R12Q6PTis:

1) 1158 . .
85 :.tz \\.

3) 85

4) 35
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2) z=3x y
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1) 0.0025 e’ 0)
2) 0.025 i
3) 0.25 (;Le\ ‘
; % _ L
WA 288 O w07 4%
mm@ﬁ
1. 10 gt qa qzﬂ% |
o sl P é+o~
1) 6n
2) 8xn %
3 3) 101‘[ @
4)" 121 ' @
Bisit.

14.

15.

 16.

“g) 0.025

If A is facing east then he turn 100°

[19/D]

.in the clockwise direction and then

‘againn turn 145° in the anti-
cloc]&qse . direction. Which
i dlreé'gl“on Ais faciné now ?

1) ' Nerth

2) East

3) South-West
4) North-East

If x% of y is 100 and y% of z is
200 then a relation between x and

ZIS

1) 2§x/2
2) Z33x
3) 2"523
4) z=4x

f  +0.05x0.5xa=0.5x0.5 x+/b,

then 2 s equal to: N
b Q.‘\

1) 0.0025
9

The ?_ﬁm of all interior angles of a
reguE‘-r polygon of 10 mdes is::

)y én
2) 8

3)I 10-,-:

4) 127:

PiT-Q,
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78. % ST g0 Rf WarTwT 18. A man travelled a distance of
T E, T sifars U ﬁ;ﬁﬂ/ﬂ% 80km in 7 hours, partly on foot af
H Crgli ?r:a T H qEl ;6 . the rate of 8 km/hour and partly on
et e .ﬁ W oifE g wwEhh bicycle at 16 km/hour, then the
9 & Y e i—a - distance travelled on foot is :

ESnIR , w‘\ :
h oasfEr 5 Ve @ 1) 28km

2) R & - 2) 30km -
/o sf o ,@\ 3) 32km %{
4) 33fFt - @ i)=s3'@’,}?/ 4) 33km

. . e ) 1 * :

19. U §HAg BN i 9on wd S @ 19. The ratio of the side and height of
Cﬂjﬂnﬁ % : an equilateral triangle is : "
), 2:1 "2 1n1

3) J3:2 4) 2:\@'

A 2), i1
8 WB 4) 2:4/3
Loy !

&

(05772
| ke Ay
80. T%H T aggw;% HIUF & Fefp! %’W 80. The quadrilateral -formed by angle
RIEG] a@‘ﬂﬁ @?ﬂg __y bisectors of a cyclic quadrilateral is :
. . RY .
1) =B ?@'ﬁﬁ o L "-O{L 1) cyclic quadrilateral
.2) S : ; ~ 2) rect_a_ngle
- 3) EF‘(__ , > AN 3). square

4) parallélogram

- 4) IR g

BI.IGTI'QﬁQTI ¥, b 18f W
~ ot T F efE 3 @ @

i

The Irish soldier, who established his
o Kingd"m, in Haryana in the last

1.

wfe R ;T decade of 18th Century :
1) I e A B o : 1) Charles Eliot

2) al‘ﬂl'{o TS : 2 R Hudson

3) o Ay i o . 3 I Thomas

4) '\—,n:,-f afa : ' 2 George Thomas

. [Level-1/1101] ﬁ;‘g



82.

83.

84.

85.

1

R, @@ ﬁig—mm T,
araftea ®
1) Jead A
2) far#

. 3) WaeER ¥

4y apaen ¥

. Tg) '
R ¥ 2025 § e wet &

aﬁmw%mﬁg%%?

1) TR Y
2) Wig .
- 3)
4) TEAH

; L :
R % T X A
@B Hfees W"ﬁfﬁmﬁ“m?

7=

82.

83.

84.

85.

[21/D]

Bhirrana, an Indus ~ Saraswati valley
siteis located in ::

1) Rohtak

2) Hisar

' 3). Fatehabad

4) Ambala

Palak Gulia, who won a Gold Medal
in the Asian Games 2023 in an
individual event, belongs to which
district of Haryana ?

1) Jhajjar

2) Jind

3) Ambala

4) Gurugram

Who among the following Governors
of Haryana was also a member of the
Constituent Assembly ?

1) Sardar Harcharan Singh Barar
2) Shri Jaisukh Lal Hathi

3) Shri Mahabir Prasad

4) Shri Babu Ramanand

The district of Haryana, where a
National Park is located :
\

1) Rewari

]'.t'
e

2) Jind
3) Gurugram

4) Sonipat

P.T:.0,
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81.

88.

BRATT F a wwar, o Y SwEHN
3 Frfor & Re sfvs 2

-2) ERIEL
4) wHE!

1) FAER
3) T

FT A1 H SR B
1) .1400 Hex § ftrs
2) 1500 HleX & a1t
3) 1600 HieX § s
4) 1700 e § s

frafofes # & R gwl d7 7
sRaen &5 # fysd fHafe #1 e

oot ? ' :
1) HAienE sReR #E

2) I HAGEE

3) TG WO

4) g T ‘

efam ¥ R v ¥ 7

1) 98
3) 143

R R o # g @

J‘.E
£

2) 49
4) T4

1) duger §
2) o |
3) TR &
4) Foua

[Level-1/1101]

86. The town of Haryana, which j

famous  for manufacturing ¢
ag'ricu.ltq}? instruments :
1) Kalaghur 2) Balaana
o
3) Dadaxi 4) Samalkha
—
A

.81. The height of the Karoh Peak is :

1) More than 1400 metre
2) More than 1500 metre
3) More than 1600 metre
4) More than 1700 metre

88. Who 'aml_Hrglg the following Sufi Saints
establish@d Chisti order in Haryana
region ? :

1) MohEnmad Bakhtiar Kaki
2) Baba Fariduddin
3) Nasiruddin Mahmud

4) Gesu Daraz

89 How'many Sub-Divisions are there in

Haryana?
S1y.98 15 B 49
143 . d) 74
3) i
L ;
90. The he quarters of the Shivalik
; = cpg‘lgntﬁgencyisin:
1) Paﬁtﬂﬂklﬂa
z) ﬁrﬂbala

gy Yomunanagar

4 Kurukshetra ; :
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[23/D]

R g sf feea g

Ei}'ff_t_if_rl: @swer t]"le_fm11c’_.__.___"f’_i_r_‘_iff_gEestir::ns by selecting the most appropriate option. .

‘91.

W‘EWABC%WW}}’a.

W%Cﬁ@ﬁaﬁ[m%:'
2

1) 1084 2) 104/3 3

3? 1042 & 4 %@fﬁﬁ

FRrEd (Axiom) B U et

¥ q P-ur gaitys Sfra & 7

1) ofrd wue Ay aeare
3§ gafr Bu AR &

) ofmE TP St @ A

R Ry o, oS T PRI S
T g
) gl @ & 3T
g 2 -

91. If one equilateral triangle ABC is

.. 1), l0em

92.

3) Axioms are

made in a circle of radius 10 cm,
then the length of a side of triangle
ABCis: '
2) 10+/3 cm

10

3) 10V2 cm ° 4) N

Which of the foliowing is most
appropriate for an axiom ? '

1) These are statements about

algebraic identities.

2) These are mathematical truths
which cannot be proved or
disproved.

propositions

similar to theorem.

4) Axioms are only definitions.




93. The F;enm-eter of the base of a

93. Rl wrgw I B omER W

AT 44 W T SEE 8 Al E,
T 30 o I B :

gl)Béﬁ%mAwwsn%ﬁm
gl ' ' |
2) A B ¥ fU B oTasFh i
3) BE & o Avae e ¥
4 B 3 3 R A oM R

[Level-1/1101]

right circular cylinder is 44 cm
and its- height is 8 cm. Then,
volume of the cylinder is :

(Take n=22)

1
1) 1212'cm’
2) 12?%20m3
3) 1412'cm’

4) 1432 cm’

. While teaching mathematics, a

teacher arrives at a statement : "A

" implies B". This means :

1) A is a necessary condition for
B.
2) B is a necessary condition for

A,

3) Ais sufficient condition for B.

4) A is both necessary and

‘sufficient condition for B.

Erqf?r gfrey gl oo o BMAR I
G P F fQ FE/ Space For Rough Work —_—,
o) : -u."é .
. LN
: B
o By,
@ ™
N B\.N
Ko N
3 R
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| 3 5
w5, I} - X=7

z=[3+(4+5)]+6 &x e
G-6), @

'_f) x@TWW%i 'b:’.g’c,
Ty whwEyH
3) xGﬁTyERTER%}

96. ﬁ@a@ﬁ“%wmlaov
# &, a 98 IgYT ¥

1) T AL
2) G AGHA
3) TR AGYST
pd) TITE TAGHS
91. 20 TR HN FA TH x
%,Eﬁxiﬁrqﬁ'%:
1) 15 ,,2) 16
3) 18 4) 25

. .+E,Y = 3+[(4_-:—S)+6],

+ 4

"4) * AN z IR § %r |

qegell
3 e B g @ 28%

96.

917.

I X = ifg,y 3+[(4+ 5)+6],
Z'=[3~:-(4HO‘\S)].6 and w = 3 + 4
(6 +6), then: =4

s W 2~
1) xand;:areequa.l. : &.) &
2) All are equal. '%\*%

3). xand y are equal.

4) x and z are equal.

If all the angles of a quadrilateral
are less than 180°, then the
quadnlatelﬂl isa:

1) Conve'f' quadnlateral
2) Concagﬁz quadrilateral
3) Parallelogram .

4) Trapezium

Cost price 6f 20 articles is equal to
selling price of x articles. If the
profit is 25%, then the value of x is :
1) 15 2) 16
3) .1¢ 4) 25

;_________________,_.__
@ w1 & fod e / Space For Rough Work
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' [26/D] @

98. @ﬂf&mﬁwﬁm@aw

99.

FEdl 8, ‘A QUi & g Ao
(arwreres) @5 e & ot fe AN R
T Qi @ R w2 7

Ty

TS o

+—

. (o

1) y&E ‘3
2) GREm
3) wWiftae

4) T T

el 18, 50, 120, 6; 80, 100, 10, 8,
10, 18, 15 % OR®Y, ¥ga% ok

98. While teaching in a mathe

99,

Matje
class, a .'teacher gives g
Statement "Common Divisor of tw,

Integers is a nuniber Whi

‘divides both the given integerg:

The statement is a :
1) Proposition
2) Definition

3) Axiom

4) Open Sentence

The mean of the range, mode and

median of the observations 15, 50,

e & e ¥ 40 4 120, 6, 80, 100, 10, 8, 10, 15, 15 s
1) 48 B 1) 48
- 5
2) 39 \6)\6} 2) 39
| o'y %
e A (). © 3) 52
9 Bl .. - T =
Fﬁ P B R ST / Space For Rough Work .
To 1 ! £
p]
N
™~
=~
t~
o
gy



aq ‘Hﬂaﬁ a \ﬁ'{ b Fy e i ‘
qododo FAM 6 aix 212°‘%° ej’g 100.
t.
a+b=72, ﬁT i-|-__]_'__‘_____.
a b
| A i b
- 1) 35 ~\O O [ 7
gy o
3 e
2) 35 bl?\
O U
N\
B =
oo |

101.

B+ x—12 A2 —ar @
qoHoTo (x—a) &, @ 'a' B A BN

.\
D o

J50

[27/D]
K

The HCF and LCM of two numbers.

a and b are respectively 6 and
1

210. If a +ub =72, then l+ -
a---b

1

D111985

2)
3)
4)

Lr)_ :

lbl. If(x - a) @the HCF of ¥ + x— 12

and Zx —j 9, then the value of

®@ 'a' is s A
& 1) 3
s (OO
2 -3 | ;p*”fgf_ LY
'8) 4 _U\,lf, g (:L B
A AR 7y

[Level

n/fi
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4) 4 ' % ‘ ;
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102. 15 M 17 ¥ 7 ok 9 #ex | 102, Whatis the least number of square
Zaf‘ﬂ a2 Th FAC b Bl @B G : tiles required to pave the floor of 5
?ﬁﬁ P fea ETFH TR EEF]T . room 15 m 17 c¢m long and 9 n
L wem e e _ 2 cm broad ?
1) 814 N 1) 814
2) 820 _ . .2) 820
3) 840 3 840
4) 841 9 84

©103.  TIOI SYETT q;ru—mq?m-m TAFH 578 T 103. Which among the following is the
: qad ofemT ® 7 " best pedagogical way to teach

1)- qﬁaw%@wmam R |
2) RERfd @, o el @ 2)
R FTLP fore siefedt e
. . =8
3) Paw I WER I I FC | paad)
‘{C- !
4) o fEmt B @l @ ¥ e "45

mathematics ?

Find the weakness and teach

- only those parts

Motivate the learners to

develop their existing

capabilities

Find the gaps and address

‘only them

1
r :

‘Teach every student with the

same approach

T % & [0 S8 / Space For Rou

D111955

i e
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o P R |
W SR s mﬁzﬁﬁ% S
m%,am@ﬁﬂﬁhw
ﬁf%ﬁﬁdﬁﬁmﬁmrmﬁq? [y
1) T
Tt | A Frrfésq-g
0
()

3) TgHAL Hied IR R wmd
W@ | R i w9
e A ﬁh‘am% A &

" f?{aﬁﬁiﬁﬂmﬂﬂm

4 foerelt @miﬁ‘ﬁ'mﬁmﬁf%
Tt @ e § e R
3 R i 30 SoTE # ST
o R ) e §

1o¢

' 2) Ask ‘the

[29/D]

If a student finds difficulty -in
applying geometrical theorems to
solve a

given problem: in

geometry, then which is the most

appropriate strateqy that the

teacher should adopt ?

1) Punish the student so that
he/she does not repeat the

mistake.

student to rote

memorise the theorem.

 3) Use multisensory models and-

teaching aids to help student
understand various theorems

and their applications.

4) Tell the student to copy the

steps of solved problems ‘ﬁ:om
the blackboard and apply the

method for similar problems.

fT e :
Beea W / Space For Rough Work g
| 10 3
iy L0
¢ @)
=
—
H '
Q ;



[30/D]
“Ticineeon W (g0 e 8
105, IR 2"=8"=(10)" A —+—+—=
x. y z '
7
1Y s 2) 0
) 32 )
7 e A0
3) — 49y —
) 16 T

106.

- 1017.

qﬁ gn X32 x{(a)—nzz}-z H(zz)n :;_]._

3%my a8 217

& m-n F A9 TG PR :

1) -2 2) 1
By =g 4) 2
“ifr, % R A T ¥ R

FA B/ FE Al 2, 98
g & R

1) ®f% 3R

12) Y™ am

3) IR &N
4) AN BT

106.

£ o

105. If2"=§"= (10)7, then i+.—-+,_h
Lo Xy 5,
Ty
70\
1* = 2) 0
32
'.ZQ |
7
3) — 4) —.
)-16 il ) 48
Find the value of m -

101.

33m.5,:03 2T

|97 x3% x{(3)~"/2}2 —(2D)" "y

2) 1

. 4) 2

The c@fin.iﬁon "Mathematics is
way to settle in the mind, a habit!
reasoning" is given by :

1) Locke
2) Galileo
3) . Bruner

4) Napoleon

it

[Level-1/11¢q ]
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103- qﬁ 41"!12 =+ lomﬂ —'Bm + gnz 1 lzn

109.

110.

— =+ - .
3(31_’“3 bn) (am + bn - 4y, F
a+b HAFL:

1) 13 2) 25

3

) 35 9 L
N

il A o s—

@ T 80% W TN wew am
[E)Eﬁmw%? |

5
1) 70 2) 90
3) 120 4) 140

Frafofes & & Be-ar g e
sad F @ Ay
1) ¥ 38 Piftee TRdm e & R
F ol & |, B 2
=

2) ﬁ'ﬂfﬁrﬁawé%amum

ol 2l '

3) Bl ff W B R FW W
e ERica e ]

4) opEPT  WRA B ST

(Conjectures) - Fed 8l

108.

109.

110.

“1) 13

[31/D]

If 4m® + 10mn — 8m + 9n° — 12n
= (am + bn) (am + bn —4), then the
value of a° + b 38

2) 25

3) 35 - 4) 10

If 35 is subtracted from a'number,
reduces to its 80%. What is (%) th .
of that number ?
1) 10

3) 120

2) 90
4) 140

Which of the fol]owihg is not true

about a mathematical theorem ?

1) They are generalized

- statements of truth about
certain mathematical facts.

2) They can be
mathematically.

proved

3) There is only one way to prove
any theorem.

4) Unproved theorems are called
conjectures. -

% F4 % [T FTE / Space For Rough Work

DI111955.
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111.

112.

H TG 443 T W ¥ o5 B
P qRA Fr A 2 |

1) 1094
2) 123H

©8) 143

4) 168H

R-TR BeErs § aem ¥ ook
3 T UH TRy R, S
I HA B TP H &9l B

1) 9 @ R

2) IO % BET B GI
3) FTMH AH | __
4) qﬁ'zﬁtmi’fw'

111.

112,

A triangle wnh ‘three equal sides
has its area gual to 4«/5 square

cm. What wﬂl;lbe the perimeter of

this tri 2
| langle "

1) 10cm

2) 12cm

_3) ‘14 cm

4) 16cm

: L
A teacher m@ a circular paper
into thin sectd::r[ and aligns them to

form rectanglé', This is an acnv:lty

* to illustrate a way to derive ....... %o s

1) Circumference of the circle
2) Formula for area of the circle

3) Diameter of 'ghe circle

'4) Transformation of circle to

rectangle

% Esrzf @ Fo‘ﬂz W8 / Space For nough Work

J;.t I
e

D111955
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113.

114.

10%3W€iasrmw%:

1 4 o 2 48
N

3) 5 9 4 58
a

o
Rifeem w0 asm W
(Ruler)\?:?l'{ffﬁ‘\‘{a

360° a7 QU 360° %lwmﬁm

Rerr-fafey = Sitar & 7

-D111

1) |iner fafE
2) Rem-afea By
3y fmeTees fafer

4) ST fafd

113.

114.

[33/D]

The mean of the factors of 10 is :
1) 4 2) 4.5

3) 5 4) 55

A teacher tells her stucients to

. draw a few quadrilaterals using a

ruler and pencil on a sheet of

paper. She tells them to find the

"sum of their angles by measuring

each angle with a protractor and

note it down. T_he students realize

‘that the sum of angles is close to

360° or 360° in each case. This is

" an example of which approach of

teaching ?.

1) Generalization

. 2) Teacher-Centric approach

3) Deductive approach

4) Inductive approach .

[Level-1 1101]

i Eﬁﬂf & fi"ll{ S / Space For Rough Work

D11195

‘l l‘

P: T O



[34/D]

115.

116.

WA y = 597 x 10% + 73.5 x 10%, 7
y B AM% &Y -6.0435 x 10" § TR
Rear g, & o @ A B

1) 22
2) 23
3) 24
4) 21

Prefifed & & @@ M

ARSI T IE9T &7 o Gl !

1 g Ree-sfem qeeEl § S
T BEF R STaEReme
F-FEFE H gErEar

- 2) BEN @ T @ qhEr # Gard

3 forg @ @ gRRER FE
3) BE # @ AREH F A B
AR IEE W
4) @w, R R fast (d@) &

TIRIT-TAIG qT S Tararear -

EZCIEII

4

115. Let Y= 897 x 102 + 73.5 x 109

116.

Whaé\n ¥ is expressed in standarq
form_ps 6.0435 x 10", then the
valu‘é"_'bfn is : '

D £

2) 23

3). 24

4) 21

- Which of the following may not be a

pu.rgﬂe of Mathematics Lab ?
1) @ help students comprehend

mathematical concepts

ectively by utilizing
concrete  teaching learning
material.

2) To give space for students to
prepare for mathematical test.

3) To enhance their interest and
motivation in learning
mathematics.

4) To conduct activities focussed
at mathematical  problem

solving using games, puzzles.

and models.

% 4 % fMQ 578 / Space For Rough Work
- (i)

J-‘t‘
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118.

[35/D]

1 e
nz. R a—;:-\/ﬁ, Vel a > 0, @ 111. Ha~l= 21, where a > 0, then
i : a
1 N
(&z+—7j[a+l) AT : | the value of [a +L)[a+l] is
- a a éa a a
' " ¢ «-: equalto:
- R ;
. i ~
1) 113 g ) .113
2) 115 ~ 2) 118
— x
3) 114 = 3) 114
4) 110 4) 110
gemalt 24 &9, 25 W MR 7T A 118. Area of triangle of sides 24 cm,
e Brget @ &% 14§l TR A 25cm and 7 cm is equal to the
F AT B EAEA I AT g, ™ area of a rectangle of length
. L .
G'HWHEEIQW%G\ 14 cm, then perimeter of the
—i .
: rectangle is :
1) 20¥H & @ 1) 20cm
7 _
2) 189 e e 2) 18cm
3) 36¥H __‘3)' 86 cm
. = 3
4) 40 &H 4) 40cm
% 314 @ fQ 5@/ Space For Rough Work L
o) , : i
o
= r'\
]
N ?1'.33
P:T.0O:
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[36/D]
119. ABCD U% wHagysl o, fored 119. ABCD is 40rhombus in which
ZBAC = 50° &, @9 34D — 2 /DAC | £BAC = 50°%hen 34D — 2 /DACis
R R . ) equal to : :
1) 120° % i = 1) . 120°
2) 140° S 2) 140°
'3) 150° §/ Q 3) 150°
4) 160° | | 4) 160°
' e 120, fhe incomes A
120. A 3R B # &M@ 3:2 & oUT ¥ ¥ .| 120. The incomedf A and B are in the
Q?R‘ 39hl F9 5 3 & eI 7 Bl ratio of 3 : Z__a,'nd their expenditure
i g 2500 Fo FAMH &, O B in the ratiojof 5 : 3. If each saves
T P ({3 Rs. 2500, then the expenditure of B
. ) | isT
1) 8000 %o 1) Rs.8000
2) 7500%0 2) -Rs. 7500
3) 8500 %0 3) Rs. 8500
: ’ gl
4) 7000 o g | ' “4) Rs. 7000

% %4 @ RiT e / Space For Rough Wor
4k | . _
2 Cg

A}

D11195%
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| AT STEE / ENVIRONMENTAL STUDIES

P : PR wodt & ove 33 R e o Re g i

[ awaenle

[37/D]

Direction : . :
» lon : Answer the following questions by selecting the most g‘ppropriate option.

121

122.

. e EVs fmmr # wRst 5w ok

e i T W ¥ Y e

X G & ¢ ‘ |

1), A 9T | whew & /A
wesht mﬁmm|

,2) dEd & oY B W w5
forr w@asll &9, |ipfos gerei

I ghed & @i wy

gl 3R THigd F7 F|

3) T 4R & IS gRepio &
sy &9 & st 3

4) g & F9F A & 9@
AT B P FHIAT B

a9 Rgy G ST 9 A
a1 37 &1 @ @ A e Rl S
g7

arg Jor @ HH BTN

o fgo el # T T

T
3 Rt gEe A T
g A I
wvd) ﬁtﬁn‘ W.W H :
s & araed #

1) e do B w@ @ @ A

121.

122.

‘_|_ :
H v
How can - teachers

integrate indigenous knowledge and

inclusively

“ perspectives into EVS teaching ?

1) By neglecting indigenous view
uniformly in

curriculum design.

points ~ for

2) By prégctive seeking and
intégraﬁ‘_i}g indigenous
knowledge, cultural practices,
and peq?pec‘:tives to enrich the
learning experiences.

3) By exclusively - prioritizing

mainstream scientific
perspectives.
4) By advocating . assimilation

instead of respecting diversity.

Why are many thermal Iz.\owe':r

plants typically set up near coal or

oil fields ? 'é: |

1) To redﬂ‘_lde air polluti?r_l from
burning-of fossil fuels.

2) To improve the efﬁéiency of

. electricity transmission.

3) To minimize the need of water
in power generation.

4) To transport coal or petroleum
more easily. '

PiT=O;
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[38/D] |
123. EVS Reor & w=d 7 Ao & and
- FmR? |
1) BE H OTEEE  WEEd AT
° i |
2) V- BE BT AR FH T
° Fx ¥ wee SRR #F e
I, B Ly
3) FeiRg wE@PT & Fora |
R o .
c4) BEN W I WRE § SR
Tl L
124. g1 olX Haa-g d W& W =K
R :
HieH-3T He-g

S & B-g AR Fe-ar
‘gfer ¥ B @t 2 ?

1) e By, By, Bg, Bz .

e2) PleTad :

3) et

4) T@ (w8) 9 .

@) mf%rm_cg fesmeTes @i 21

9

125.

(ﬁ)'amlﬂw_m@ﬁamam%l

(i) AP 1 yeTe = B R
(iv) o1 T JaTE ahig Bl 8
D OWGE@  2). () i)
©8) OWG) .4 ) i)
B

[Level-1/1101]

123.

124.

In the conteyt of EVS teaching
what doeg scaffolding refer to ? '
1) Providing' excessive help tq

students,
2) Gradually reducing support ag
students gain skills and
; knowledge. _
3) Rigidly adhering: to a set
curriculum. '
4) Isolating students from their
peers.

Consider 'thé terms in Column-A

and Column-B :

Column-A Column-B
Protein Vitamin B;, B;, Bg, B2
Sugar ~ Calcium

f Carbohydrates Energy
Vitamins : ‘Pulses (Dal)
Minerals Glucose
What definition in Column-B

125.

corresponds to 'Minerals' in
Column-A ?

1) Vitamin By, By, Bs, Byz
2) Calcium

3) Energy

4) Pulses (Dal)

-l'.t-
;

In an ecosystem :

(i) the flow of energy is
unidirectional.

(i) the ~flow of materials Iis
" unidirectional.

flow of materials is cyclic.
(iv) the flow of energy 1s cyclif;:: '
1) (i) and (1) 2) (.11) and 9-11)
3) @ and (iv) 4) (i) and (iii)

(iii) the
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[39/D]
xt of NEP 2020, what is
the role af\experiential learning in
EVS teacfihg ?

1) Experiéential learning is
discouraged in EVS teaching.
2) Experiential learning is only
relevant for science subjects.
3) Experiential le,-arningr is
encouraged and integral to
EVS teaching.
4) Expendential learning is limited
to cla@room discussions.
H
When chedsing a source of energy
for a given situation, which factors

_influence the decision most ?

1) The
caused by the source

environmental damage

2) The ease of_ extracting energy
from source
3) The technology's efficiency

4) The economics of
extraction

energy

What concept is introduced  in

relation té)natural processes such

as cloudgoi'mation, rain and the
creation ofjfresh water from saline

water ? 1 i

1) Oxidgilon and redqétion
. reactions _ _
2) Saturation and super-

saturation of solutions

3) The behaviour of metals, glass
and wood - '

4) The irreversible changes in
substances

P:Tx:0:
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129. NEP 2020, EVS Rpmor # el

130.
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129. How does NEP 2020,

130.

impac

assessment method in EVg
teaching ?
1) It enforces’ standardised

assessment exclusively. .
) ‘B ° authentic

assessments to gauge students

promotes

understanding of environmental

concepts.

3) It discourages any form of

assessment in EVS teaching.

4) It focused on memorization

based assessment.

If you use the. property of

magnetic . attraction to classify

objects, what would be the result

for Wooden and Iron tables ?

1) Both Wooden and Iron tables
would belong to the same
group. |

2) The Wooden table would be
attracted, while the Iron table

would not.

3) The Wooden and Iron tables

would belong to different

groups.
4) Both Wooden, and Iron tables
would be repelled by the

: 3
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- 4) Empathy is
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[41/D]

While teaching about environmental
conservation, - what role does
empathy play in the learning
process ?

1) Empathy is not relevant to EVS
teaching.

2) Empathy hinders
analysﬁ of
proble@s. e |

3) Empatﬂv discourages students
from talging action.

essential for

~ understanding the perspectives

of all stakeholders in
environmental issues.

objective
environmental

What are the main categories of
impurities found in sewerage ?
1) BacteriL%and viruses |
2) Organi® and

Inorganic
impurig?es

- 3) Solid affl liquid material

4) Salts afd minerals

How can teachers adapt EVS

~teaching to address the unique

environmental challenges and
opportunities in different regions ?

- 1) - By using fit for all approach to

Environmental education.

2) By ignoring regional
difféerences to maintain -
consistency in curriculum.,

3) - By incéfporating local context,
case stndies, and involving
students| in local environmental
issues.

4) By avoiding discussions on
regional environmental
concerns,

CPRiT- O;
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134. Which of the following vitamins jg

135.

136.

.+ 1) Overdirect

not correctly matched with 3
disease or condition that can help
to prevent or alleviate it ?

1). Vitamin C -_]Scurvy

2’) Vitamin D - Rickets

3) Vitamin A - Night Blindness

4) - Vitamin K - Tuberculosis

Which of the following components

of air is present‘ in the largest

amount in the atmosphere ?

1) Nitrogen

2) Oxygen

3) Water vapour
4) Carbon dioxide

&
e

In an EVS role-play activity, what
should teachers do to ensure its

success ?

students' actions

and decisions..

2) Provide a rigid script for

students to follow.

3) Allow students

various roles and make their

to exploré

own decisions.

4) Dis'cmirage students from

participating actively.
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How can the concept of
appreciating different  food
preferences be applied in daily
life to promote harmony and

understanding ?

'1) By insisting that everyone

should have same likes and
dislikes. :
2) By  exploring rand
cuisines and

sharing
different
respecting other food choices.

3) By not
friends to avoid conflicts over
food.

4) By
regional variations

eating with ‘family

cultural. and
in food

ignoring’
choices.

What is the term for the variety of
life on Earth, including all species
of plants, animals and micro

J‘.|E

organisms ?

1) Biodiversity

2) Ecosystem

3) Climate Change
4) Pollution

|

Ten Percent Law of energy

transfer was given by Linderman

in the year:
1) 1924 2) 1942
3) 1956 "4) 1842

. PsTL O,
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140. What is the primary sensory

141.

142.

143.

experience: described  whep
moving through the thick forest op

- the way to school ?

1) Bright sunlight filtering
through the trees

2) Cqmplete silence with ng
n_agral sounds

3) Ths{l' rustling of leaves
undérfoot

4) The sounds of various birds
and creatures

T

Which of the following is a key

principle of constructivist teaching

inEVS?

1) Teacher centered learning

2) Paﬁgive'l student role in
leag;ning process

3) Active engagement in problem
solyng and exploration

4) Ro% memorization

Which, teaching approach is most
effective in EVS to encourage
critical thinking and Inquiry based
learning ? _

1) Lecture-based instruction

2) Teacher centered approach

3) Experimental learning and
discussions _
4) Stdfidardized testing

W}dle‘aidentifying - feafures of -
leavesz which, of the following
sensesTs most relevant ?
1) Hearing - 2) Smell
3) Sight 4) Taste

ol & -



_ | TG
B I8 W T AN we
GHET § 7 ?

©l) WA gyl ab T
2) WHITh SRE HEH
3) ScEg UREH B T
4) TEER ()

145, e & o o SriEE & Ak §
SFTEhdl SgM S SeT 79 & fod
. SIFT&ehdl

21 HE H B4l
g HmEr o § ?

) fasg wteRer Rew
2) fasg Jeave fag
- 3) AN AEE Rad
o 4) fasg 97 Rag

146. fr=fofad & § s9-a1 g+ & A9

T Gl B g # “DRaR 3 gl

P IR ¥ q99 o1 hear @

Fivad & 7 |
1) T 2) T
3) WE * 4) FI

147, G ) o Rdver @ Y P

1) Wﬂfﬁﬁlﬂﬂ@‘%—fmﬁaﬁ:ﬁq

T Bl ot

V2) W 3 R @9 oK 18 e

% R1Y oTEsTS ol

3) U Fgw ARdl SR A A

e 2

4) m;ﬁ,a@,@qagﬁmﬁgvﬁmw

% FT S 21 g0y
[Level.q 11.01 ] m

144.

145.

146.

141.

[45/D]

In the context of unequal food
distribution, which issue is most
likely .to be discussed when
comparing wellfed children with
those suffering from malnutrition,”
disease and hunger ? A

1) Access to healthcare facilities
2) Socioeconomic factors

3) Climate change impacts

- 4) Technological advancements

~ Which environmental .awareness

day is observed on March 21st to
celebrate and raise awareness
about the World's Forest and their
significance ?

1) World Environment Day

2) World Wetland Day .
g
ik

3) Bhopal Tragedy Day
4) World ForestDay
Which of the following source of

water is most likely to be closely

related to the concept of a "Family
Member" in terms of water sources ?

1) River 2) Pond
3) Sea 4) Well

What is the unique feature about

water ?

1) Water is salient and
unchanging element of nature.

2) Water has various forms and

essential for life. ;
8) Water is only present in rivers

and waterfalls.
4) Water prinia.rily causes
misfortune in the world.
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